5 || BEHRY)IL [ 1w i 109

N gy
&F = I T 50 =

| m | 13T 0N R D TAD DB F N B EESTEB2ENTES
NBLEEAREF IBAFRBZOR730.1,, M731.0,& 731, T
M RR>BEXINSENSL, 1FH/NIT<RBDE0.137, £ 4,

Lauw ~x & o9l

BH X7xBh

L&295

€@ 18355 1ETOL. 0E2EEN R EESTTED
[N IEDNTEAES 258
(1) ZOTIME TABRELRBRENDOTTN? B2

(2) ZOTNEITABNELKEDHIENDTTN? KR

(38) ZO[/NE] T 2BBICKZELLBBINDTID? &R

(4) ZO[NE) T 2BRICISRBRIENDOTTD? B2
(5) ZO[/ME) T BBEICKZLBRINOTTN? B2
© 16103JEVSTARIIEOVTELELS 11052

(1) T6103)IZZDROFETTH? %%
(2) [61.03] EZOBOAAD1TT H? %2
(3) ZDHD1007D1DEIE. W< DTY H? 2
(4) ZOED10007D1DEIE. W<DTYH? &2
(5) ZORDIE. 0.001 DAETT H? %%

©#FIZ®ch @ misonya.com



5ESE ||E¥RYIL ] 1wme-2 i 109

=
£ EE | mmm /504 |
710!1.1018[3]| 70.083,xL5%1&,
NN EEEN "10x7, T1x05 70.1x0,
< gz 2ls|lo|a|o| 00.1x8,70.001x3,2"
EPBEER) | || 7 i ootlses] BP0 EBAL

@ 0/595TOT10EDK] DHPBEEOK] EE->TTEB,

1

TDHRDS 1500 PUETDNRICDOVTEAELD [1054]

(1) 1 BRIR/NE

(2) 1F/NSLHNE

(3) 50ICHBIE LV
(4) 50IC2FBBICHEWVWNRIE. 2DEDZEDPTEET .
ZN2DEEXED | &

L&295
(2] ICABNREBZS 11035

(1) 50cm+50m= m (2) 120cm+12m= m
(3) 6dL+15mL= dL (4) 18dL+830mL= L

(56) 5.2m—345cm= m (6) 0.5kg—250g= kg
(7) 7.1km—1230m= km (8) 47558—1.33kg= kg
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